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Starting Six N ACCESS MATHS

Find 35% of £240 Work out 2.4 x 2.9 \

fe=d
=) / Write 36 a2 a product of prime factore \ / Write 0.04 a2 a fraction \ !

\ / Solve: 4m + 3 = 27 \ / Simplify: 6f — 4f + f \ \

Solve: 6b -7 =2b + 5 Simplify: 6b — 25 — 3b + 41

AN




Sl /“Express 68 as a produet of ifs prime "\

{ [z

RN

Top Ten Topics

N ACCESS MATHS

faciors

.
>

STMEE] Y

\ .

/The pattern chows a fence design:

| H

a) How many panels will be in the 24" pattern?

3 ¢ 5

/

F'ﬁ;r'e are b green buttons in a pack, 2 blue buttons in a pac\k\
and 9 red buttons in a pack. How many packs of each must |
buy if | want the same amount of each colour?

\. J

Fl'iv:kati. cost E25.50 to a music gig. Tha\l
band sslls 249 tickets and the venue
costs them E3750. Estimate how much
profit they will earn.

\ J

/" ealeulate 2.47 x 2.9

N /

f‘/F_ ind the perimeter in terms of a and t?\
Za

2b
4b

s

N

4 Expand:
a) (2x + 3)(3x + 2)

Factorise:

b) (12x + 36)
\_ )

/" Solve: 12x = 10 = 7x + 5\

.
( Find the value of y \




SISISIFSINS]

-

1: It takes 200g of flour to make 5 fairy cakg
How muchflour would it take to make 8 fairy
cakes?

. X
11: Makex the subject ofm=—+5
n

2:10 men can build a house in 6 mosth
How long would it take 1 man?

12: Simplifya? x a3

C3: Russell, Sarah, and Terry share money
the ratio 2:5:8. In total they have £120. Wor
out how much each gets.

13: Write 56 as a product of primes.

4: Describe the difference between a squar
and a rectangle.

14: Write 1.3x 10f as a decimal number.

5: Find the area of a parallelogram with a
base ¢ 7cm and a perpendicular height of 9
cm.

Write down the
monthly rainfall fo
April.

6: Two angles in a triangle are°sthd 79.
Find the size of the third angle.

16.Find the mode of 4,5.7.9. 5. 8. 6. 5. 6, 7

7: Find the value of 8+ 5d whenc= 2 andd
=5

17:1f there are 11 numbers in a list where is the
number that is (a) halfway:

(b) a quarter of the way:

(c) three quarters of the way?

8: Expand 5(@+d)

18: Convert 400 cm into metres.

9: Factorise ¢+ 21d

19: A plane travels 300 miles in 2 hours. Calcul
the planes average speed.

10:f:dY 4d-7. Findf:9

20: A drawing of a tree is drawn to a scale of 1g
= 50cm. The height of the tree if 8 metres. How
tall is the picture?




Starting Six N ACCESS MATHS

Find 65% of £320 Work out 3.6 x 2.1 \

]
/ Write 27 a2 a product of prime factors \ / Write 0.031 a2 a fraction \ .

N AN Y,
/ Solve: 6b -2 =22 \ / Simplify:  +4F - 2f \ )

Solve: Tk-5 = 3k + 11 Simplify: 5b + 22—3—-2b + a + 5

AN




S /] Express 66 as a product of iis prirm\

[\ RS

Top Ten Topics

N\ ACCESS MATS

faciors

/The pattern shows customers around tables: \

{3 L0 {11

a) How many customere will be in the 19"
pattern?

N

.
>

G) GE° 5 [
2t

'ﬁ;I-EI"E are & green buttons in a pack, 12 blue buttons in a pa&
and & red buttons in a pack. How many packs of each must |
buy if | want the same amount of each colour?

'\

\. /

ffl' ichets cost E24.50 te a music gig. Thh
band sslls 251 tickets and the venus
costs them E3495. Estimate how much
profit they will earn.

\ J

/" caleulate 3.12x2.3

(/u; Express the

perimeter in terms

2a
9:1|

4 Expand:
a) (3x + 2)(4x + 1)

of a,

b) If the
perimeter is B2em.
Find the value of a.

Factorise:

b) (20x + 15)
\_

/Sulve: 15x — 12 = 9% + 6 \\

[ Find the value of x and y \




CIOITOIOI I I CI CI I 0.

-

A supermarket sells boxes of cereal in two sizes.

Regular

Which box gives the better value for money?

You must show your working.
[3 marks]

Dave goes Go-Kart racing with his friends.

These tables show information about his races on both dry and wet tracks.

Dry track Wet track

Number of races | Number of wins Number of races Number of wins

64 16 40 12

On which type of track is he more successful?
You must show your working.

[3 marks]

— In this question assume that all the men work for the same hours and at the same
work rate.

A builder estimates 5 men would need 12 days to complete the job.

What would his estimate be for 4 men to complete the same job?
You must show your working.




Working Out Page




Starting Six

Find 85% of £620

fe=d
\ / Write 36 as a product of prime factors \
J

N ACCESS MATHS

N\ _/

/ Solve: 5m - 3 = 22 \
he=

Solve: 8x -5 = 3x + 10

\-

Work out 0.56 x 7

~ |

, |

7

/

-

Write 0.103 ag a fraction

Y

_/

-

N

Simplify: 3f — 5f + 7f

Simplify: 5p + 4 + 3p- 6

Y




Nl Express 90 as a product of prime faclors )

Top Ten Topics

N ACCESS MATHS

in the form 22 x 3* x 5¢ x 79 lhat are the
values a. b. ¢ and d?

.

(The pattern chows a matchstick sequence: \

AVAVIVAVAN

a) How many matchsticke will be in the 17°
pattern?

.

/"

() T6* 55 86~

STMERIBYE

) &3¢ % ap*
E__I:l:i-

/There are 3 different trains running fo london. One train\

leaves every 15 minutes, another leaves every 20 minutes.
and the last one leaves every 45 minutes. They first leave at

B:5. What Time do they all leave again at the same time?

AN

\. J

r‘/- A lunch at a market costs ES.50 pﬂr'\]

person. A stand sells 143 lunches. The

stand costs them E225. Estimate how
much profit they will sarn.

\ J

/" ealeulate 2.25x 1.9

r/u; Express the

perimeter in terms
of y.

4y

b) If the
perimeter is 4bcm
Find the value of v.

4 Expand:
a) (2x + 1)(3x + 5)
Factorise:

b) (24x + 18)
\_

/Sulve: 16x — 4 = 9x + 10 \

/ Find the value of x and y \




- -

Week 3

1: A 7509 box of cereal costs £3.30. How m
would a 1kg box cost?

11: Makex the subject ofg = 5 + 3)

2: 10 mencan build a house in 6 months. Ho
long would it take 3 men?

7

12: Simplify%

3: Russell, Sarah, and Terry share money in
the ratio 2:5:8. In total they have £120. Work
out how much more Terry gets than Russell

13: Arhombus and a square both have all 4 sig
the same length. Describe another property thg
is common to both a rhombus and a square,
other than having 4 sides or 4 angles.

4: Write 84 as aduct of primes.

14: Write 3.2x 10° as a decimal number.

5: Find the ara of a triangle with a base of 8
cm and a height of 6 cm.

15: How many families had 3 children?

6: Three of the angles in a quadrilateral are
62°, 10? and 87. Find the size of the™d
angle.

16: Find the median of 4, 5. 7.8.8. 6. 5, 6, 7

7: Find the value ofé&- 3f whene =4 and =
6

17: If there are 10 numbers in a list where is th
number that is (a) halfway:

(b) a quarter of the way:

(c) three quarters of the way?

8: Find the value of 8&- 7f)

18: Convert 105 minutes into hours and minute

9: Factorise 8- 20

19:f:.gY 10-g. Findf:6

10: A train travels for 4 hours at an average
speed of 55 mph. Find the distance the train
travelled.

20: The Houses of Parliament are 97.5 metres
tall. They are drawn using a scale of 1cm = 5m
How tall is the picture?

Mark:







